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Option 1 ID : 94891115582
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Q.60 =& x* —px®+2x7—5x+8 & x—1 ¥ TFenfaa frar smar &, ar Awwe 2p WA @Ar &1 p F AT A
Hrfam)
Ans x 1. 5
2. 6
x5 3
X4 1
Question ID : 9489114967
Option 1 ID : 94891119867
Option 2 ID : 94891119866
Option 3 ID : 94891119868
Option 4 ID : 94891119865
Status : Not Answered
Chosen Option : --




Q61 v FRieR Igd=t F TR = F AT 4a 3T 3a 1 Iy 3R A @ P07 60° E, A FARK
TS F W v wT w1 A s # s s e

Ans

<1 24/3a
2. 4/13a
< 3 34/3a
X 4 5y3a

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

9489114972
94891119887
94891119886
94891119888
94891119885
Not Answered

Q.62 2011 Fr TFTUET F RSl F AR, HRA F FATNF TS AATEAT T T (Fenfig FEdt

BIga) i @1 27
Ans 1 ﬁ%’l’(
X 2 3T g3
X 3 dfferarg
3
X< 4 aar
Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option

9489113722

: 94891114887

94891114885

: 94891114888
: 94891114886

Answered

1

Q63 sz Fr T, T AN HWSAT F FAC WA AR FHH @ HEA gl
Ans
K 1. HeT Ao
X 2 UAT T FeT
X 3. Bt 3o
. Ao wae
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

9489113727
94891114906
94891114908
94891114907
94891114905
Answered

4




W SARRT B WA AT

280 e 2RO 280 +-1711 %111 % 111
289 x 289 — 289 X 111 + 111 x 111
Ans 1. 289

<20
5 400
< 4. 300
Question ID : 9489114944
Option 1 ID : 94891119775
Option 2 ID : 94891119776
Option 3 ID : 94891119774
Option 4 ID : 94891119773
Status : Answered
Chosen Option : 3
Q.65 zr gaew feet & dvda A 16 m? 3T 36 m? &) 3 Ford et e W A
Ans X'1.4 : 8
<216 : 36
K33:4
44:6
Question ID : 9489114969
Option 1 ID : 94891119874
Option 2 ID : 94891119875
Option 3 ID : 94891119873
Option 4 ID : 94891119876
Status : Answered
Chosen Option : 4
Q.66 : ¢
frafafea & & v @ 7 Revslaa 748 22
Ans 1. TEHT
K2 =
K 3. FwITST
4 gafeeh
Question ID : 9489113715
Option 1 ID : 94891114858
Option 2 ID : 94891114859
Option 3 ID : 94891114857
Option 4 ID : 94891114860

Status : Answered

Chosen Option : 4




Q.67 2019 #, FE=AT AT AHF AT THH 7 128 U Tk AN cF FF TRAT T AT SIRT TEE
Y T HUUT F TS To8 NoTE I 6 FF 3HA Fhue [E Sier?

Are X =T =
< 2 IFdrATeT ATl
&< 3 3 U
‘. FHITHSSTH gHedT
Question ID : 9489113707
Option 1 ID : 94891114828
Option 2 ID : 94891114827
Option 3 ID : 94891114826
Option 4 ID : 94891114825
Status : Not Answered
Chosen Option : --
Q68 =7 fameT F T FY, Fwa AW g ¥ T FIY E, N GHY AT F TE U F T
AT (Goldsmith) : BT (Gold) :: ER (Blacksmith) : ?
Ans
1. &g (lron)
& 2. =Er (Silver)
X s S (Shoes)
X 4 g (Diamond)
Question ID : 9489113875
Option 1 ID : 94891115499
Option 2 ID : 94891115497
Option 3 ID : 94891115498
Option 4 ID : 94891115500
Status : Answered
Chosen Option : 1
Q69 330 & 50 @ T W WH F= U, T =ATHd @ 10% Fr T g Bl 20% F AT YT A F A,
3 728 # fordel W = Tfgw?
ans X 1. 25
<220
3. 35
<430
Question ID : 9489114960
Option 1 ID : 94891119839
Option 2 ID : 94891119837
Option 3 ID : 94891119838
Option 4 ID : 94891119840
Status : Not Answered
Chosen Option : --




Q.70 1fFFTE 12.5 km/h Fr T ¥ TEfFS To0aT ¢ AT 3 km/h Fr T ¥ 2 e ¥ O ok few
g F @R 40 km gl 9T FA H W F 7 w¢ 79 3ES A o¢ wEfEe 9w

Ans x1_ 5

X23
3. 2
<44
Question ID : 9489114961
Option 1 ID : 94891119844
Option 2 ID : 94891119842
Option 3 ID : 94891119841
Option 4 ID : 94891119843
Status : Answered
Chosen Option : 3
Q.71 fT o fawel A ¥ 3@ F-FAR F T0F Ffow =1 A & 715 sjgen F wea-fEd (7) F ®E W
TeraT 2Tl
KL, MO, OR, ?
Ans 1. QU
<2 UQ
X3 QT
X 4 3Q
Question ID : 9489113887
Option 1 ID : 94891115547
Option 2 ID : 94891115548
Option 3 ID : 94891115546
Option 4 ID : 94891115545
Status : Answered
Chosen Option : 1
Q.72 vx o e Ao, wifewd s arderer fr aferst & weaiet F v O e # Bl w1
oI & Sreare F T FT AT 180° 71 3§ WRETH # 80 R e #F 70 3F 97 W A
BT # =7 e ¥ 9 gu?
Ans 1150
< 2130
<3210
< 4180
Question ID : 9489114973
Option 1 ID : 94891119890
Option 2 ID : 94891119889
Option 3 ID : 94891119892
Option 4 ID : 94891119891
Status : Answered
Chosen Option : 1




Q.73

Ans

A=A (Modem) ¥ 37 E 2
<1 AR

2. Pl oS
/< 3. #AT3H

X 4 FAETEE

Question ID : 9489113736

Option 1 ID : 94891114941

Option 2 ID : 94891114944

Option 3 ID : 94891114943

Option 4 ID : 94891114942

Status : Answered
Chosen Option : 2
Q.74 o e & 3w 7 20% #r iy 3k gw F 50% Hr wAE H S F aﬁqﬁﬂmmmmﬁrg F
TR &, a7 e 7 Fifew
Ans . 5
% =
12
25
™ 2
84
72
R 3.
25
25
4.,
72
Question ID : 9489114952

Option 1 ID : 94891119805

Option 2 ID : 94891119808

Option 3 ID : 94891119807

Option 4 ID : 94891119806

Status : Answered
Chosen Option : 4




Q75 37 fawew & 90 ST, T AT e F I TG §, S gHY wg F RS U F T

ﬁg:m::m:?

Ans 1. TISTEATT

< 2 FaAEH
5 el
/< 4. HAGHI™E
Question ID : 9489113894
Option 1 ID : 94891115575
Option 2 ID : 94891115573
Option 3 ID : 94891115574
Option 4 ID : 94891115576
Status : Answered
Chosen Option : 3
Q.76 godea TaH TAGE Tome A W W F G ool W Feoll T T A haT A2
Ans 1. 1266-1287
< 2. 1290-1322
< 3 1321-1334
< 4 1206-1223
Question ID : 9489113717
Option 1 ID : 94891114865
Option 2 ID : 94891114866
Option 3 ID : 94891114868
Option 4 ID : 94891114867
Status : Answered
Chosen Option : 1
Q.77
Ry o & Aas @ GFaer 22
Ans 11000 km
< 2 500 km
#3200 km
/< 4100 km
Question ID : 9489113732
Option 1 ID : 94891114925
Option 2 ID : 94891114926
Option 3 ID : 94891114927
Option 4 ID : 94891114928
Status : Not Answered

Chosen Option




Qs F PINFT F UGEET F § F AT 19T g

e K PR
X2 FEw
5. ATSETRIST
K 4 Hed: geegdr Sferer

Question ID : 9489113713
Option 1 ID : 94891114849
Option 2 ID : 94891114850
Option 3 ID : 94891114852
Option 4 ID : 94891114851
Status : Answered
Chosen Option : 3
Q.79
== = g FifST
& 4
+ =2
4/0.0009 +/0.0016
Ans 1
N
200
1
¥ 2.
50
#3100
4200
Question ID : 9489114953
Option 1 ID : 94891119810
Option 2 ID : 94891119809
Option 3 ID : 94891119811
Option 4 ID : 94891119812
Status : Answered
Chosen Option : 4




Q.80 vw aforcir 9o @@ HT FHEA, A F IS FEwr F F G 3@ R s & 15 ger fam
Wqo & 9ge WRiRE B ¥ 15 gern 3R R 38% o) & @9 a3 S A wAe Sea) wrea

@ﬁ,mmmmﬁml

ans X1 6
X229
X7
vig
Question ID : 9489114945
Option 11D : 94891119777
Option 2 ID : 94891119780
Option 3 ID : 94891119778
Option 4 ID : 94891119779
Status : Answered
Chosen Option : 4
Q81 wa # AEE UF a0 Bfeaw 2 ¥, e o9 @ FowT (RBCs), 136 9 FOET
(WBCs) 3R woiceied &R @& £
Ans 1 TorsAT (Plasma)
X 2 ANEEasae g9 (Cerebrospinal fluid)
X 3 @Y (Saliva)
X 4 @ (Lymph)
Question ID : 9489113711
Option 11D : 94891114841
Option 2 ID : 94891114843
Option 3 ID : 94891114844
Option 4 ID : 94891114842
Status : Answered
Chosen Option : 1
82 yra F vuw &R T TuRe ReITew FT scues Far W e T §2
Ans
X 1. ZoT e, AR
X 2 o &, 3eaR
v o diiRes Firel, AT
X 4 o T, AT
Question ID : 9489113724
Option 11D : 94891114893
Option 2 ID : 94891114894
Option 3 ID : 94891114895
Option 4 ID : 94891114896
Status : Answered
Chosen Option : 3




Q.83 =y 2016 F @sft Todrw ToANI A YT T FAT T Fod T HR IAF T [ Toll F FADAF

F 3R 37 T AT T F B g Bw T & s # T
v X dg-wEEe IR

V2 HG-HREH TR

X 3 {E-Rg WIS TRASAT

X 4 IT-TSF FHE-IT TRASAT

Question ID :
Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :
Chosen Option :

9489113743

94891114969
- 94891114971
94891114972
- 94891114970
Not Answered

Q.84 Frmfafes # ¥ fw diefdr Foe garr =gurs & egar, 2019 & Fehmrex Fant & s #r

¢ ¥
Ans X 1 7ETer (Google)

v 2 3T (Uber)

X 3. ATsEFe (Microsoft)
X 4 T (Apple)

\

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

9489113705
94891114819
94891114820
94891114818
94891114817
Answered

2

Q.85 ‘mgsar (SAMYUKTA) T& Fereeiiee I #OwF ¢, ot sma & 3N 9T Je EE agEd

7 e B o)
Ane X1 dréumes faf@kE (BEML Limited)
X 2 Z@Tee (Dassault)
X 3 ey T (Bofors AB)
v ¢ B3T3 (DRDO)

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

9489113731
94891114923
94891114922
94891114921
94891114924
Answered

Chosen Option : 4




Q.86 sfrer & 7€ arfee F 2014 ¥ 2018 & T AR HewT-31eT TU=A F 3eured FOS & f@awor ¥ v

Ans

Q.87

Ans

aifereT #1 sEET F1 AT A BU 9T 9o #7 3w &)

State | 2014 | 2015 | 2016 | 2017 | 2018
A 84 86 85 82 85
B 168 | 164 | 162 [163 |145
C 178 | 180 | 181 [182 |185
D 86 79 84 76 74

Coal production (in thousands)

FasT: coal production (in thousand) - FTeT 3c9e+ (FoF #)
Rrow 7§ B g &, e a9t & I ¥ 39 3oew & P o B e

vVis5astF T3
X25ast 73 1
X35aat 7 &2
X+ipaat A A5

Question ID : 9489113889
Option 11D : 94891115554
Option 2 ID : 94891115556
Option 3 ID : 94891115555
Option 4 ID : 94891115553
Status : Not Answered
Chosen Option : --

Ay & o afe F 2014 & 2018 F AT 9N srereT-3reT U=t & Iourfd Eae ¥ fawor R oo E)
et # EeET FT AT A BU 9T 9o #7 3w &)

State | 2014 | 2015 | 2016 | 2017 | 2018
A 84 86 85 82 85
B 168 | 164 | 162 [163 |145
C 178 | 180 |181 |[182 |185
D 86 79 84 76 74

Coal production (in thousands)

Tes: coal production (in thousand) - HIIeT 39 (TR #)
& T 3T F SR P F 3eNeA F A F W 5T F RT (range) FUATH T E?

X1.Tsg C
X2 TsT B
X3 D
viTsT A

Question ID : 9489113890
Option 11D : 94891115557
Option 2 ID : 94891115558
Option 3 ID : 94891115560
Option 4 ID : 94891115559
Status : Answered
Chosen Option : 3




Q.88 =y & a8 @rfom # 2014 @ 2018 & AT IR He@r-34e7T A=A & Icdied Figer & f@=wor Ry 1w £

Ans

e 1 3T Ft AT A BT 7T 997 F 3eR &)

State | 2014 | 2015 | 2016 | 2017 | 2018
A 84 86 85 82 85
B 168 | 164 | 162 | 163 |145
C 178 | 180 [ 181 [182 [185
D 86 79 84 76 74

Coal production (in thousands)

T2 coal production (in thousand) - T 3cEsT (FAN H)

e & ¥ 59 a9, Fd & FF Seved § TsT C & 3e9ied B RS F st 1 Wi wEies

w©r

X 1.2016
v'2 2018
X 3 2017
X< 4 2015

Question ID

Option 2 ID

Option 4 ID
Status

- 9489113891
Option 11D :

94891115561

- 94891115562
Option 31D :

94891115563

- 94891115564
- Answered
Chosen Option :

2

Q.89 & &r o anfer & 2014 ¥ 2018 ¥ v IR rewr-arenT At F sewfea Fger F for fw e §

Ans

et #1 EaEA FT AT A BT 7T 997 #7317 &

State | 2014 | 2015 | 2016 | 2017 | 2018
A 84 86 85 82 85
B 168 | 164 | 162 | 163 | 145
C 178 | 180 [ 181 [182 |185
D 86 7”9 84 76 74

Coal production (in thousands)

Fas': coal production (in thousand)-FTaT 3cdie (IR #)

& 778 5 At fr A & IR FIT FIr F 3T F fFW T=T & A F vF ar o FrmEe g

& B 2 (vfae Fr e Teeaw quis F fifSm)

X 1LTsT A
X2 3TsT B
X3gsa D
vigsa C

Question ID :

Option 1 ID

Option 3 ID

9489113892

- 94891115565
Option 2 ID :

94891115567

- 94891115566
Option 4 ID :
Status :

Chosen Option :

94891115568
Answered
4




Q.90 R 717 Fud W AR wt 3K Fa7 B & 75 uromit F @ FiF @ Fuw & QR ¥

FUA

R ST AT AT T ¥ v R I
TR

1. e & st &t w=d AteRar B @ €
2. 9IRA & 3TOT A F IFEN F AT g

Ane X1 Fae umom 2 ffRT ¥
X 2 Fger urrom 1 f&fga &
v arom 1 3R 2 It @R
X4 o ar aom 1 3 7 & aror 2 AT T

’

\

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

9489113881
94891115522
94891115521
94891115523
94891115524
Answered

2

Q91 Rr=fof@a sof &, 0 f5awr 5 &, B &% vga 6 3T §, g 30F & a1 9 7@ T 8?2

89876597365432887776596546598765

Ans x16
v23
X3 2
X4+5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

9489113903
94891115611
94891115610
94891115609
94891115612
Answered

3




Q.92 #3 Ry a1v S 1 cAmES HeTs Hiew AH Rt & § 3w "gew & agw A, St wwE vea-
REa (?) & IS 9T AT FhAT 817

@ 4(\243 o@s

8 9

Ans X 1. 156
v'2 454
X3 216
X 4 227
Question ID : 9489113901
Option 1 ID : 94891115603
Option 2 ID : 94891115604
Option 3 ID : 94891115601
Option 4 ID : 94891115602
Status : Answered
Chosen Option : 2
Q.93 fadr RfYea ge s & RAM &1 TYO formr e €1 33 % smor & CPU &t ford o forar smeam?
Ans o 1 ENW
< 2 NEW
< 3 WNE
X 4+ EWN
Question ID : 9489113874
Option 1 ID : 94891115495
Option 2 ID : 94891115493
Option 3 ID : 94891115494
Option 4 ID : 94891115496
Status : Answered
Chosen Option : 1
Q.94 iy 9w ez TEER U v E O @ 99 Gl 9eR @ @99 § R oF e ¥ 3T ored &
TI= AT
Ans X1 MAT
v 2 CAT
X 3 BAT
X 4 HAT
Question ID : 9489113893
Option 1 ID : 94891115571
Option 2 ID : 94891115572
Option 3 ID : 94891115570
Option 4 ID : 94891115569
Status : Answered
Chosen Option : 1




Q.95 @ Rw 7w e 3t favat F caeEs 9| FA F BA A gY AR N, 59 @ 37 wAeaw
A g2t @ B 9hd @1d &, 3R sa F Ru aw Fvest # @ #a @ Fua F7 afeF 9 90

A X1 Faer sy 1 9T FaT B

X 2 Fae frsay 2 9T T g

v ey 1 3R 2 aEt 9 = &
Xegar @y 13kaT & 2 aea Far g

T 82

ERCH

i A, T gl

ey

1.5T Fa, o £

2,55 a9, F &

G PrafafRT #r g ST

Ans

2000

8000 +——- 150 x 60

v
X 2.
X 3.
X 4

100
-980
-8000
980
8900

Question ID : 9489113877
Option 11D : 94891115505
Option 2 ID : 94891115506
Option 3 ID : 94891115507
Option 4 ID : 94891115508
Status : Answered
Chosen Option : 3

Question ID : 9489113886
Option 11D : 94891115541
Option 2 ID : 94891115542
Option 3 ID : 94891115543
Option 4 ID : 94891115544
Status : Answered
Chosen Option : 1




Q97 33 fymew # T X, THTH W oo F T T §, I WY UqE F TS o0 T ¢
Iedl 9 ; AEWAF | BedlHIAG ;7

Ane X1 FrET
X 2 e

2

X 3 AT

2

v TR

Question ID : 9489113879
Option 11D : 94891115515
Option 2 ID : 94891115513
Option 3 ID : 94891115516
Option 4 ID : 94891115514
Status : Answered
Chosen Option : 4

\

Q.98 R =1v Rwedl # ¥ 3W WS & TTF AT F A & 78 H@ar F T TUS T HTA
20, 40, 63, 90, 122,

Ans X 1.120
X 2110
X 3 150
V4160

Question ID : 9489113888
Option 11D : 94891115549
Option 2 ID : 94891115551
Option 3 ID : 94891115550
Option 4 ID : 94891115552
Status : Answered
Chosen Option : 4

\

Q99 ot J e ¥ Fa, AN A F sHold WS F YT FERT 51 G A9 F A FA TG 2
X A % s

v 2 foar #r sga &

X3 Sga

X4 Tyar & 58

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

9489113876
94891115502

- 94891115503
Option 31D :

94891115504

- 94891115501
Status :
Chosen Option :

Answered
2




Q.100 fow arw fAdeit # wurer @ wiew 3k BT 1 W & Ieav dfsw)

T e Ao W 8 =P - A, B, C, D, E, F, G, H - T quY &1 3R #g =5 R gu &1 A E 3N
GHFIT#doT g, 7o G FFad sN A g e WdT ¢ H, DARBF A 7 3k F & ard

T g FUE W ¥ §1 A AR B Te-gE F daw 3%
E #t H & &= 37 da1 &7

Ans x1_ C
X2B
v:D
X4 F

QP HTML Generated date 2021/08/01-11:34:47

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

9489113880
94891115517
94891115518
94891115519
94891115520
Answered

3
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